Auction

710000					
ID	Description	Estimated Value Each	Extended Valu	ue As	set ID
	1 Large AV cart	\$2	0.00		
	2 Small AV cart	\$1	5.00		
	3 Hose Washer	\$5	0.00		1935
	4 Cutter's Edge Chain Saw	\$1	0.00		
	5 Huskqvarna Chain Saw	\$1	0.00		1537
	1 3/4" Hose				
	6 C-55	\$	5.00		
	3" Hose				
	7 H-56	\$1	0.00		
	8 H-92	\$1	0.00		
	9 H-65	\$1	0.00		
	10 3" Hose				
	11 Magnetic Go Light	\$1	0.00		
	12 (2) Vulcan Streamlight	\$2	0.00 \$4	0.00	
	13 Electrical Conduit	\$	1.00		
	14 (7) Life Jackets	\$	5.00 \$3	35.00	
	15 Crate of Hardware (Casters, Pulley, Screws, Nails)	\$	5.00		
	16 2007 Dodge Durango Rear Utility Box	\$5	0.00		
	17 2007 Dodge Durango Rear Utility Box	\$5	0.00		
	18 230 amp Welder	\$5	0.00		1940
	20 Firecom headsets and control box	\$10	0.00		
	28 Speakers, sirens, wire	\$5	0.00		
	31 (3) Rescue Helmets	\$	2.50 \$	57.50	
	32 Ground Monitor/deck gun	\$5	0.00		
	35 Ethernet hub and parts	\$2	0.00		
	36 Seated row fitness machine	\$7	5.00		
	37 Fly fitness machine	\$7	5.00		
	38 Pull over fitness machine	\$7	5.00		
	39 Box of lights	\$2	5.00		
	41 3 Door Closers	\$3	0.00 \$6	50.00	
	42 (3) Hose packs	\$1	0.00 \$3	80.00	
	43 Oil waste can	\$	5.00		

44 Oil waste can	\$5.00	
45 Junction Box	\$15.00	
46 K.E.D.	\$5.00	
48 Black & Decker drill	\$5.00	
49 Hand pump	\$10.00	
50 Can opener forcible entry tool	\$50.00	
51 Fan hanger	\$25.00	\$50.00
52 Hurst pedal cutter	\$5.00	
53 Time clock	\$10.00	
54 Hurst hose reel	\$35.00	
59 Pike pole	\$20.00	
60 Pike pole	\$20.00	
61 D Handle Pike pole	\$20.00	
67 Officer's Tool	\$10.00	
71 Pick	\$5.00	
72 (2) hose straps	\$2.50	\$5.00
73 Projector and cables	\$35.00	
74 Belle Howell 8mm Projector	\$75.00	
75 Word processor	\$5.00	
76 3 channel sound mixer	\$75.00	
77 Slide projector with 8 trays	\$5.00	
78 DVD player	\$10.00	
79 VCR	\$5.00	
80 DVD player	\$10.00	
81 VCR	\$5.00	
82 VCR	\$5.00	
83 Wireless microphone receiver and wireless mics	\$50.00	
84 Receiver & speakers	\$50.00	
85 Bullard thermal imaging camera	\$150.00	
86 Projector	\$35.00	
87 AV board	\$75.00	
88 Overhead projector	\$5.00	
89 MDT Terminal	\$100.00	
90 2007 Dodge Durango Police Partition	\$200.00	

91 (11) Motorola Astro Radios	\$30.00	\$330.00
92 (13) Motorola Speakers	\$20.00	\$260.00
93 Motorola heads & microphones	\$5.00	
94 Motorola antennas	\$5.00	
95 Backboard	\$10.00	
96 Backboard	\$10.00	
97 Backboard	\$10.00	
98 Backboard	\$10.00	
99 (44) Motorola XTS batteries and clips	\$5.00	\$220.00
100 (11) portable chargers & (1) bank charger	\$120.00	
101 (15) Lapel mics	\$20.00	\$300.00
102 (29) XTS 3000 Radios	\$30.00	\$870.00
103 (8) Portable radio antennas	\$5.00	\$40.00
104 Pulley	\$5.00	
106 (8) 2" binders	\$1.00	\$8.00
107 Misc. VHS movies	\$1.00	
109 Rope and bag	\$5.00	
110 Utility light	\$5.00	
111 Utility light	\$5.00	
112 Utility light	\$5.00	
113 Table	\$50.00	
114 Marquee Board	\$5.00	
115 Marquee Board	\$5.00	
116 Desk Shelf with light	\$5.00	
117 Projection Screen	\$5.00	
118 Projection Screen	\$5.00	
119 Desk		
123 Thermometer	\$20.00	
124 Thermometer	\$20.00	
125 Thermometer	\$20.00	
126 Mobile Router	\$75.00	
127 Mobile Router	\$75.00	
128 Mobile Router	\$75.00	
129 B/P Machine	\$50.00	

120 P/D Mashina	¢50.00		
130 B/P Machine 131 Table 4' x 4'	\$50.00		
	\$100.00		
132 Sled Chair	\$20.00		
133 Sled Chair	\$20.00		
134 Sled Chair	\$20.00		
135 Sled Chair	\$20.00		
136 Sled Chair	\$20.00		
137 Rolling Chair	\$20.00		
138 Rolling Cart	\$75.00		
139 Ironing Board	\$5.00		
140 Iron	\$2.00		
141 Iron	\$2.00		
142 Intubation Bag	\$5.00		
143 Intubation Bag	\$5.00		
144 Trauma Bag	\$10.00		
145 Trauma Bag	\$10.00		
146 Printer & Ink Cartridge	\$10.00		
147 AV Cart	\$10.00		
148 International 1994 4900 S/A Dump Truck	Vin∦1HTSDAAN0SH648894	\$4,000	
	9' dump body, central hydraulics, plow ready, diesel engine 79,000 miles		
149 S/A equipment trailer	15" tires loading ramps, pintle hook hitch	\$300.00	
119 0/11 equipment trailer	Model number 90A01767/S, serial number	φ300.00	
150 Generac Generator		\$750.00	
150 Generac Generator	992087, volts 277-480, 152.6 amp, 454	\$750.00	
	Chevy natural gas engine		
	Serial number 464434T, transmission does		
151 John Deere 401-C tractor with loader	not engage, diesel engine ran good last year, ROPS	\$1,000.00	
152 8 large truck tires w/rims, 2 small truck tires w/rims	Tires for International 4900, 4700	\$100.00	
153 92" stone shovel box	Shovel box for rear of dump truck	\$25.00	
154 4 partial pallets of used brick pavers	Various sizes	\$50.00	
155 Stihl TS400 gas powered chop saw	Runs good	\$75.00	
155 Still 15400 gas powered chop saw	50' and 100' lengths		
	JU and IUU relignis	\$60.00	

157 Homelite 3" trash pump	Model number 1201P3/1B Serial number 41634543	\$50.00
158 John Deere F725 Commercial 54" mower	Runs good, front deck mower, Kawasaki liquid cooled engine serial number MOFT25X052205	\$1,000.00
159 John Deere F510 Commercial 38" mower	Kawasaki engine, runs good, 3 wheel, serial number MOF510A130	\$800.00
160 Used coke vending machine	Worked several years ago	\$20.00
161 Goodman natural gas furnance	Forced air, couple years old	\$50.00
162 Misc. computer monitors and keyboards	Various makes	\$10.00
163 (2) 8' hydraulic salt spreaders	Used for rear of dump trucks	\$150.00
164 Dual wheel dolly	Works well, used for pulling rear wheels off dump trucks	\$100.00
165 Sewing machine		\$50.00